50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN Y 15CS34
Third Semester B.E. Degree Examinati Ilgh ec.2018/Jan.2019
Computer Orgamzatlon
Time: 3 hrs. 9 . Max. Marks: 80

Note: Answer any FIVE full questions, choosmgmw%

ONE full questlon from each module. )

%;MQ_QIHL
1 a. Define the functions of followmg processor registers :
i) MAR ii) MDR iii) IP iv) IR, %, § - (04 Marks)
b. How to measure the performance of a computer? Explaing (05 Marks)
c. Compute the content of:8 bit register namely R1 and-R2 containing a value of —1710) and
+98(10) with initial carry bit as 1 after performmg followmg shift or rotate operations by
2 times. i) SHR R, 2%»@ ii)) SARR1, 2 [Arlthmetrc shift]
) iv)RCRR2,2 [Rotat?e right with carry]. (07 Marks)

@@ﬁmﬂ%

& &
““ ,359“@ b

2 a
subr@mrne stack frame. . - g (06 Marks)'
b.  With relevant examples brleﬂy é%*piam about any 2 a%godmg types of machine instruction.
(05 Marks)

c. With a memory layout startmg at address ‘1’ repré?er% how ¢ ABCﬁ@%Eata is stored in big
endian and little endlan assrgnment scheme in a sﬁtem of word length 16 bits. (05 Marks)

A
A,
3 a. Explain how Simultaneous mterrupt equests from several- ~I/O devices can be handled by
processor through a single INTR li AL ¢ (06 Marks)
b. What is bus 4rbitration? With neza( diagram explamwbomt distributed arbitration process.
s D | wﬁwﬁ% v (06 Marks)

c. With a,ane?at diagram, expggn“‘bout how data is read' in asynchronous bus scheme. (04 Marks)

4 ‘ar Explain with agneat ‘block dlagram the “hardware components needed for connecting a
- keyboard to a processor (08 Marks)
b. With a neata“’éx quence dragram% plam the process of, how output operation is carried
between prooessor and output dev1ée connected to host through USB hub. (08 Marks)

o~ Module-3
S a. Witha neat dlagram, explam the design of 2M x 32 memory module using LM x 8 memory
chips. (07 Marks)

b. Consider a cac%*@consrstmg of 256 blocks of 16 words each for a total of 4096 words and
assume mamm“’%mory is addressable by 16 bit address and it consists of 4K blocks. How
many bits are there in each of Tag, block/set and word fields for different mapping
techm%ues (09 Marks)
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6 a. Explain the process of address translation with a neat'di (06 Marks)
. With a neat diagram discuss about organization of magnetic disk. (06 Marks)
c. Calculate the average access time experienged Dy processor if miss penalty is 17 clock
cycles and Miss rate is 10% and cache access,| ime is 1 clock cycle. . (04 Marks)
Y o
Viodule-4 =

é

bit carry look ahead adder built from 8 bit carry look
ahead adder. Compare its performane dder built from 8 bit ripple
carry adder. 2 a& E (10 Marks)
b. Calculate the product of — 2@5%% + 14(10) using bit pag regording multiplier method. Why bit

7 a. Design and explain the working

pair method is better thaé%égé‘o?h algorithm? — (06 Marks)
N7 &
4 “w
N OR, ¢
8 a. Perform the noffaestoring division for thesgiven binary numbers where dividend is 1011
and divisor j$ %%‘1%(2) with all cycles. G (08 Marks)
b. Represent).062510) in double precision format and calculate the decimal value of A floating
point %u@ig%represented in single precision format as 44900000H. (08 Marks)
N . e "
fi %, N N4
e, Lo ¥ o,
g e T
+  Module-5 % Si6
9 a Write and discuss about miero-routine for comw&f%xécution of irgsg;:‘hﬁ%on Add (R1),R2 in
single bus organization : b3 . (08 Marks)
b. With a detailed block 3*1 am explain abo@;kgfﬁw&ed controg&un'ft. (08 Marks)
A ¢ e % »W fE
: Qmj%& @ 4 S
Aok
10 a. Withablock ﬁzram explain brie’ bout an embedgecf?processor. (06 Marks)
b. Explain hﬁ{aieﬁy about differentcways of implemenﬁt%ﬁ%gﬁ%ultiprocessor system with supportive
diagramg= o @7 (06 Marks)
c. Writ&%,cfcontrol sequen ?iiﬁstruction Add R4, RS, R6 for 3 bus organization. (04 Marks)
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